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2 erSdd {flRq q-ffiqsTkr qrq-( r6 I
a
J 6fur qqi$T*fd q RqEHqRsq qqffiqk q1-6( 16 I

4 qd $t {snrq y*-rurqqrfw qt+{ l6
5 sfdHtrlF{9qlun 16

6 1. srrdtrd-Tfrwq ffi eilgr: -5

2. {rrcaqqcvqM/ TnsqF:qqi erfrr: -5

3. ftqTur*trqrqrfl: qq{ rq*rf,.}q ergl: -5
4. 39ft*Ifr: 75Vo = 0l 3[S:, 76Yo-80% = 02 -TS+

8l%-85% = 03 3d$T:, 86%-90Y0 = 04 3I$T:, 9lo/o d
eTftrs,{ = 95 ffir:

20

LT



F(SFa{t.-
1. FrgqT-+€d€'{' (rFhT.r-€{fril:) {ffi:, =)ruer@mq - rs93

2. qgvr+{ylq{: (qq*erqr{d:), qtqqTrfi[{|;r{ - 1987

3. Wvr+{tq{: (*ffiqa:), fr.ur*r<ffi, q-{wrqr5r{r;r(, qqgr{
4. d${d{Itqr: (*tuatffin:), d}qqronm{

vq$rqr:-
1. qrriTgrqql - (qriqitr<tqrfril) asqqTffiil, qtqqr 3aq{qnfr FFrvH{t

2. q{TflgTq{ - u+FRIiddT,@:l

fd-frqrr1 wrur;sT:-rgqf,gwspr anr{froqurmt wtqT:
100

tlw
06

FfiT{ qr€ks+t: sf,sr: *fsc
rTffiqsqqq 16 I

2 Rqufl yflurq t6 I
aJ qqilgqTur{ 16 I

4 F6tefTswq 16 I

5 stron{ffi t6 I

6 qqfig.qfrqiurq./ ewffi{ -5

7 Yn-€{q|{qqT srsr: -5

3. ftqrr*fqrqrqr: qq{ rr*Frq slgt: -5
4. gqfte1fr1 75% = 01 ffi:, j6%-g0o/o = 02 

"TS\
8l%-85% = 03 3[$T:, 86%-90% = 04 3[gT:, 91% d
sfrrqq = 0s 3rsil:

20 I

Efrqqr{ lIkFEf,€T:-qilTFiHrq:, eilRd: qffiqqd<: q4t-gt:

100

*fss
06

Fd,d srsr: *tw
I ertq:, qqtqtqllffi T6 I

2 e+t+qqr*rqqnkqp :, ffir1szffuq51 1, I6 I

1 3T+{{45q{, l6 I

4 s{rqei{qdgvqed++rgvfl eq T6 1

5 sr+qF , qd qe qfr Ts-{qffi qT-qQ t6 I

6 1. slqffierqv yqnfiTqdqd{ ergT: -5

2. qITFTSqSSf,id/ VnF'qFsqt 3rE[T: -5

:. fuqTuT-*d-qTqrqTr qq{ trf,*r-rq orsr: -5

4, vqfuiR: 75Yo = 01 et$:, '16%-80% = 02 q-S

81%-85% = 03 3IST:, 860/o-90% = 04 3I$I:, 91% d
3Tfelttq. = 05 sr$r:

20 I

12



Vq$f9|;qT:-

t. qgR'qTq: - (rqrtr<wgc{-a:) *-{qtfiTgr wre+rsfen:, +qqgfitq1qql
z. qeRer<: - lenq{ztfirgd:l qrufrRersronr+q, q-{rur$l

l. qFmurflRa e-r 'qFd-6t-s, de-fr - gft{ffiqm*., {trlrne s1r trzl
z. dRqmks ql Efd-6t-s - d€-fi - q-f,iq ssle4m, q\€qufivtrql
3. qq--{ur{rfg'{ qT'{Fil6|-q - tqfr - erqrffirq|Erc, dtuqrrqwrrqt

Tgcfrd{ qp6qp*1;-fqrgmfrfdtTq3 q'ffi:
100

*fse
06

F*l{ slSTl frtsc
I fumeieqd: Eflrsrq:, qR-qqw t6 I
2 FI[tRRq ERI6RT:, qftqq{q t6 I
J Gdfuir<d: qfrarq:, cRsqsq r6 I
4 qrFrfririlrfr-{qq-ruTmr qfuq:, Effi t6 I
5 fsgr: +qFFTUrr: r6 I
6 1. effi1ftsqfrqTurq/

2. {n€rqqqsffi/ yrrc{qM erST: -5
3. fr1qtuf*flqfqrqf: TrFt gtr+tqer{ ffi: _5

4. sdrqR: 75yo = 0l 3f,$i-:, 76%-80% = 0Z *d
8l%-85% = 03 eISI!, 860/o-90% = 04 OIST:, 9t% d
eTRror1 = o5 ei-ff:

20 I

rF{{T*l:-

Tqqq'tr(
(s)

qFwrFf
wfsn:

100

*fqc
06

Fd.r{ qrEqfrsrqr: grE[T: *fge
I vrfm: l6 I

2 Vr$ftfl, qrcT{'tk: l6 I
a
J wta: t6 I
i.+ e4frkKt{Tq l6 I

5
\^

vn-qfiEM5ql t6 I

6 r. e$nRm-qfrq1q-q/ ffiT: -5
gTSI: -5
3TS[T: -5

76%o-800/o = 02 -Td

04 3[Sll, 9l% iT

z. vmaqlrygvs.tdl T[r€lqFdqi

3. ft1q{ur*trqrqrflr: wFt rfi*ri€
4. vqRerfr: 75yo = 01 $[S:,

8l%-85% = 03 3lSIl, 860/o-900/o

sTfe6-1 = 05 eTST:

20 I

13



vq{Fe{.-
1. qtFtq{u1 (qdrttql qqspsq, q.1g1r

r

2. q{wgrqTr - 1il-iqrqRf{rFq-dr) nesq.Tffiffir, +qqr erwr{Kfi *F.rvm{l
3. q{qegTGW - G*ffiFHtrdT, ffi:

rrqdrqr:-
f . il*qq{qq 1v{-rRtr+ca dEr*..ruq{, q.rgn

r

2. q{T€gFq{T - (qrtqTq{ffir) nqnorRr*rqRnT, Etqqr s[qrqrfi FhT{H{l
3.q{Tdgqq{T ,ffi:r

Fqqfd{
(q)

Iyrtgr:
100

*f€
05

Frr{ srsr: *fqc
I rrFa: t6 I

2 Yrqsg, qrovrk: t6 I
n snta: t6 I

AT eaffid-{rt<rrq t6
5 vrFffiqqf*qr t6 I

6 1. qqffiWurqygdffiq ffiT: _5

2. YrwsqgvqM/ wnaqM slgr: -5
:. fuqTur*fgrqrfi: T4;r ]Fr*Ft=f sf,gl: -5
4. srFpffr: 75yo = 0l ffi:, 76%-8020 = 02 -T$\

Sl%o-85o/o = 03 3[gI:, 860/o-90% = 04 O[gT:, 9lo/o d
sTRr*-{ - 05 srglr:

20 I

t4



:

enq-d: (IV[.A.) yr+rqrm-rq\
gUrtR|:tl

Vq$nFqTI:-

l. q6TqTq{ (qqrfiFqtQ dtt€il-dT - =rrctq:, *ffiEtsl
2. q6Tqq{ (qqlfitrqq) EIr€IIril- qqqTs:{fldffi, @l
3. q6rqT6qq, glrlF , {Tdrf,{i$q{Z, ERqtqIl

4. Rqrf qdTslTrq{, q1ufri*epsqTq11{t

s. qquf qfl$il-tqq. (r{ddnfrelRdq) vfrqTeqr{rqt

g?iqT{q 'r{ffi[fl;af;- Tdlqfqq., stttt$llT: reqiffi q[|.r(, q+gT:

100

*fse
06

ffir$ €f,sI! *fqe
qedFnFrsq I6 I

2 BfrqrFrq-*q t6 I

a qnnilreq$l t6 I

4 qgeffta6'1 t6 I

frRruq-xw Mqqnrcqq-q 16 I

6 f. ilTr-{Fqrrfrwq ue$n<-fi{q ef,gl: -5

z. lmsrqqasqM/ {TFdqFEqi er$il: -5
g. i\Tqlq-*trgrqrqr: qfi']q-*nwt slgr: -5
4. gqRffr: 75Vo = 01 ffi:, 76Vo-800/o : 02 -1-$\

810/6-85% = 03 sTSI:, 86%-90% = 04 ffi:, 9lYo iT

oTft[sr{ = 05 srsr:

20

Ffrqqr[ gt6EItFsT:- q6lstlElrl, gqrilqr{Ig fifrqqrE; Wtfgt:
100

*fsc
06

{s.ri qr€Frqr: srEFr: *fsc
grlTr[F4rqs tilfrqqqg gqqrtfsq l6 I

2 yt4qirqr{Rzr Ffiqqrqg kffiETfis eTrRd:

qnf;snuqrew qfd qrqE

t6 I

€d n$q-S utffiq*-s Fqd: sTlleffiqqrk ?Tr*( l6 I

4 s?+trcq-{s tffiqqqs Effiqqt l6 I

5 t{Rls{dtw +q*-qqnltzrr q r6 1

6 r, er<fim'rfrwrq sqnFnffiTdq erSI: -5

2. Yrsdsq6q.td/ flEqM 3agi: -5

:. f;nqTuf*{qtqrqrr qqi qcr*tq*q er$il: -5

20 I
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4. sqRlfr: 75o/o = 0l Sl-S':, 760/o-8o0/o = 02 qR+

8t%-85% : 03 ffiI:, 8670-90% = 04 ffiI:, 91% f,
sTRr*-{ = 05 sTEflr

{rq{u;eil.-

1. rl-6t$tTEI{, , {FqtTFftqnqR, Eftqlunl

2. qryf q6r$rrer{, erufthewrqrvtr1
3. qqrf rrorqrwrl (r{ddaffircq) yfrqryorvrr{r

qftTT{( qkF[FCIt:- T6t$nq{, frfiqterqg yqqtffi wfet:
100

*f6c
06

rorg srE[T: *lqc
I frfiqts,qrqs gQrErqKsr y t6 I

2 Bfr 'qqqs eerrrqfwT til@T"-{ r6 I
nJ Bft 'qtqrqs tilfr qqns setqrFgfr { t6 I

4 flgfrqtqr{r€qfg-fiqqEsfilfu rfer-*-{ L6 I

5 I6 I

6 1.

)
3r€[: -5

7 qn€{qn:qqf &TgT: -5
g. frrqTur*fqrqqr: ?rr;t yrFsff,q ergT: -5

4. gqRTfr: 75Yo = 01 EIS:, 760/o-80% = 02 q-$+

81%-8570 = 03 slglT:, 860/o-900/o = 04 sl$l:, 9l% iT

s1ftr6{ = 0s ef,glT:

20 I

nqqrefi:-
1. q6tqTqq, {rr{-dtff4qr{R, Eftrfiutll

2. qryf q6r$rrer{, qrufrF-orsqfiym{r

3. €quf q6Tqrq{ (r{ffioffirq) sFdqrrfirnq

L6



qgefqr( YI?FTFST:- q5IqTET{, TfurqrT{Nffi wfgt:
100

*fqc
06

Efid qrqrFqqr: €rErt: *fse
1 Tftnqrqs ee{qqfwl yqqffi l6 I

2 Uftnsqrqs eQTEIqKs reeffi 16 I
a

TftflcaF{R FfrqqrEs ee{qFrq.q r6
A+ qft nuqrqstrtrqqqsfgilqrnqrf"+ l6 I
5 l6 1

6 &lST: -5

319;t: -57 qrw{qfisqf

:. thqTur*ilqrqqr: Tffr rrftrqct srgT: -5
4. gqRrfr: 75vo = 0l ffi:, 76%-g00/o = e2 .t-$+

817i-85% = 03 slgT:, 86Yo-90V0 = 04 e[$T:, 9l% d
erfi,r*-q = 05 erS[T:

20 I

qq{Fqr;-

1. qdITIIet{, gF , {Fltnc-,.F-Tq€, E,RqIutTl

2. quf {6rqrer(, qrofficms*,.prql

3. Rquf T6re{rqq. CqffidfftrR-de TRrne*.r{r+{l
qqqll-d{

(H)
YI?FIFqT:- Tflqrq{, griqFfifrqqr+ ryffi:

r00

*lqc
06

{fir{ qr{qR'{qr: srsr: *fqc
I qluluvnrw ue{ENKFT tdffi 16 I
/,t
L qtqtqrfiq ya{qqrwt !frqgsriffi T6 I

J qluf wr+e tilfu qF{s yerqrfflfi t6 I

4 qlqigqrrs trfuqEs Fme+*,1 16 I

5 ffi1qqffiffiqqapmrq 16 I

6 1. s66ffiwrq yq3ffiq or5il: -5

z. wqqqcsqMt vr*xqM ffir: -5
g. ftrq{q-*frgrqrflr: qrr;r r+rr+q +t$t: -5
4. 3qftsrfr: 750/o = 01 8g:, 76%-80% = 02 .TS+

81%-85% = 03 ffi:, 86%-90% = 04 ffi[:, 91% d
3Tltrfr{ = 05 ef,sr:

20 I

sq{Fan;-
t. rt6TrtTEI{, gf , rne1rqlq€, ERzrutTt

2. qquf q6rqrETq., arunAemv*wrqr

3. rlquf {dre{rErq. (r{+*Ti{dkdQ yfrsnrqrqg{r

L7



q-6rFer:- +srfffi vrrc*q frqq

qf"Ieffi{qq

H'TWtq-fiur{ sd1qrs6: Ffqt* qrq
qEfrf, : ys-{urqq"rfR qr-q(

l. eilrf,Rsrfiqrrq@
2. {'mFiqq6-s$'td/ Y|I€iqR_{qi erST: _5

:. fvtqurgtrffirqrqr: qq{'lcr*Flert otst: _5

4. sqR+rft: 75% = 0t BTS:, 76%-80% = 02 q-S+,

9I(Yo-ll5% = 03 ffiT:, 86%-90V0 = 04 3IST:, 9to/o 4:
.rfrr*q. - 05 srST:

@

t. eYkdrd-dgf, (er<rqEffitq-d:) rfrfl-i€ .irq5{r
2. EEfuE]*T*tUfr si@;, rfrffi:, qtequqT{r{tr
3. trgfudrd-*tgfr rr*WMn;, g.rrq{-qrqurB++, qTqrlqs-Rmq, ftf+trdl

filfusd{
yrrlqqa{ 'ql-aqFtr:- q6rqrqq., wqqnnoq TdrTrFfld qEtE, Ptgt:

100

*fsc
06

{+li qr{qkqqr: sf,sT: *f€
I qqrTRq-6rl

r6
2 qetlF*r{, l6
al ervtilRq-frq

T6

4 q-eqtflFs.q,
I6

5 i+fue1pwir l6
6 l. $16Tk*-Tfrqrrq eqRffiq ef,gT: _5

2. Y|rsiqq61T$td/ qrRTqFqqi ef,Sr: -5
:. ftrqrnstfglqq: qqq rf,d#tEl st$T: -5
4. rrqFgfr: 75% = 0l €f,$':, 760/o-g0% = 02 eTd,

8l%*85% = 03 3l'91:, 86%-900/o = 04 Od$T:, glvo iT:

sTtwnq = 05 ffi:

20
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1. rr6rqrq\ (rsTrfl-dFt) qr€rTfdr - TKtq:, dffiqrsr
2. rr6Tqrql (rcnRrs'o q[€rTrdT- wrvrscorer*wfi, @r
3. q6Tqlq{., {rqqffifiT{F, ERrltqtl
4. qEWf rrflwet{, qroflt*erqgrflTFrqr

s. qryf rr6rqr6l{q (r++ffi-aq) sfrqrqsT{r+qr

m$rql:-
1. rfdlqq{, qqf,fqqiWp, 6RzttutTl

2. vryf q6rqTq{, erumemr-*wrqr
3. qquf q6rq-qq tr+ffiq-rkdQ qfrqrq*,T{Fr1

frfrqr*t YltFI[{t:- r[6I$tlEFt, geHIuIfqR qffi:
100

*ke
06

{d,d w{qfrqqr: qsr: dtqc
I t6 I
2 ee{qrF4l-{sE-fr qqKstfffi{f*-{ l6 I
J yslqr$45qs qgejqlEs 9e1qm. r6 I
4 esrqtqrqq qgefqKs Tfugqiffi t6 t
5 ffi'rqqiloTr *rfrqrarrq+T{ l6 I

6 1. 3a1-qffiWFV Xqffiq srgr: _5

2. qTRTsq6vSid/ ynsqRqqf qg1: -5
:. fuqTur€hilgmrqr: qqq Fr*FTG{ ffiT: -5
4. 3qRTfr: 75Yo = 0t OIS:, 76%-800/o = 02 sTS+,

8l%-85% = 03 sTgT:, 860/o-90yo = 04 ffi:, 91% iT:

eilll-*q = o5 ffir:

20 I
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Tfrqrd{ rilrFIFsT:- q6qrq{, r6frqp4grq@

qrqqlqsqr:

WilM:
100

*f€
06

Frri erE[T: *fsz
I ffiqleqrqs Efrqcr(s eerqfuE,q I6 I
L̂ Eiil-qrEqF[Fr EilqqKs lgnlqddfficrd 16 I
a
J lgfrqreags qgejqqs e l6 I
.̂t ffiqreqrqs qgriqT{s t6 I
5 tdRrqqxrurt dqatqqnsqrrq t6 I
6 t. ernifr*-qfrqqr1l qftfrq-d*dq e{gT: -5

2. qr-€[qe-6sS.My Tnuqnsqi ergr: -5
3. ftqppfr6qlqqr: qqi ytrq;te.q ergr: -5
4. sflRqfr: 750/o = 0l sTS:, 76%-80% = 02 uf,$\,

8l%-85% = 03 3IS[T:, 86Vo-90yo = 04 s:fST:, 91% H:

sfqsrt - 0s orST:

20

@

qq{rqr.-
1. qdTqTq{, gfuR 11qc6fiR-{€, ERztrrurTl

2. Hqlf q-6Tcrq{, qruflfrerqrsT{H-{r

3. vrryf rErqTEq (l-dffinffiaqy ffir+remrfl-{qr

+gtiqr{ rqkFEFs[:- F6rqr6q, Tfrqtqqg Tfr{qgefqr+ ryfiw:
r00

*Fqc

06

{d,r$ qr€Fdsqr: qsr: *f€
1I qfr+rurr+*a qdqqns s?rttfere-{ l6 1

2 Efr+wr+w qfr qqK{q filtrznFfl qq t6 I
a
J qfr+ru+r+ra q'geiqTqg sil-{EskT: erqq1-ffi qFo qrEq t6 1

/1- gfr+u+r+*a qgPiqrqe +-dR qE E-dfpq qrq3qTk qTqE I6 I

5 fcRTEWTUn Mqqoreqfiq 16 I

6 1. oilifrsqfrwrq r<dFr+ilfrft ffi: -5

z. vrersqgsqtdt vr*eqfisqt ffi: -5

3. fuqfuf*ilTfqrqf: EI{FT yrFrFt."rt ffiI: -5

4. sqfuIfr: 75% = 0l 3IS[:, 76%-80v0 = 02 -TS\

81%-85% = 03 3i-$I:, 86Yo-90% = 04 3IST:, 9l% d
eTRl-*q - s5 sl-gT:

20 I

vq$Fen:-
l. q6TlTtq(, 9fufr , {Tdrarqrsq€, €frqlurTl

z. eryf qilqTq{, qnfrEqruysT{T+1l

3. quiuf q6rqTq{ (q-4ffid{) efrqreqrqrql

20



T"qqfd{
(q)

qrFIFst:- T6rqrq{, ruqtqrqg Tfiqqgefqr+

@;
ryfs:

100

*fsc
06

F*,r{ €f,sT: *fsc
qgaii'uq5qs E-frqqT{s yqqrFr6q

vgvt'u+r+e Ef,iqqqw Eme-*-q
t6

2 t6
J {gqrbqFrFT qgsfqK{q eil-{f,: Rrc^qFfr qrqq l6 I
4 qgY{lEslcls TgsnqKFI {|ffrqqqftrqq geprzT: qqqqTft1

qrqd
t6 I

5 frfttszWMT ffirrorqfiq t6 I
6 l. e{r<t-c*-rnte{urq y{dlqqil*l*( ergT: _5

t. qrFisq6Tq.td/ vrie*qkdqi H-Sr: -5
3. ftqqfr6qrqqr: q+i yq-*Ftq +rgT: -5
4. giRBrRr 750/o = 01 ffi:, 76%-g0% = 0Z .r-$i

SlYo-';85Y0 = 03 ffi:, 86Vo-90% = 04 3{ST:, 910/o d
efqaq = 05 ei-$T:

20 I

@

Tlqsnr;sTt._

l. qdreTw{, git{e , {-rffrrq-i5Tq€, eRqrqrr
2. HWf ToTslTqt, qrufrFenqs'fiTmqr

3. {qrf qorqTqt trdrHnmq; ffiuryfiqm{1

Tqqrd|l
(€)

\kFrFsT:- {6tq6flIFifqfrqq3 gtgr:
r00

*f€
06

Fs.ri qr€ksqr. el-st: *fsc
I qqmffi{ur{

t6
2 q-filrm{uq

T6

3 nnncaq.iuT{ t6
4 eitq-dr{Iqq-{q-q\ t6
5 T, qq. qc*: t6
6 l. sTr-dR-frTfreury vwffiq eT$T: _s

ffii vnuvReai ergT: *5

:. fuqrfgfl-dqfqrqf: qq{ yqRFte,ct ffi: _5

4.

8ly"-85% = 03 eTSt:, 86Vo-900/o = 04 el-$T:, gI% d
efrr*q = o5 sf,gT:

20

27



TRSr;qr.-

t. ffig{ (etqt|qrqd{fud:) ffis.rtirwgr
z. egfugnrc*g* +fr@;, rfrfoq1q-d:, qtqqre-mTymql
l. dskgrt*\rUd eiq'Wrierqrqtdir:, s[.rrq4nrqqkdq, q-effru-frT{r_{q, Tqffi

1. rrFTqTEIq, 
, {FRfler.hTq€, ERzItutTl

2. €quf T6TTTtw(, eF mqqrurfiTli1
3. qt{f T6rqrq{ trqiffiop sfrr1ffirv6{1

TI|iFIFsT:-qETqrql Frqtq-qg

wq+Bvo:
qcrltrcqgg ysrrrqrg ye{q1fffiq

TEirqrql-qR YEiTTqKFT EfIqTtrEq
Frqr$an-{s fffr qq{s uqq6g*
qcurtarqs fcflqqqs CdiqRffiq

r.sildffiqqq@
2. yrmqqaqdtsi/ vnqqRwrf eilgr: _5

:. fuqTur*dqrqrn: q+i FFgFtcI sf,$T: _5

4. gqfuifr: 750/o = 0l $[S:, 76yo-g0% = 02
SlYo-85% = 03 ffi:, 86%-90% = 04 Qf,gT:, 9t% .d:
sTRmq - os 3r$T:

22



qfdpT:-

qr{qfqsqt.

wrfgr:
100

*fsc
06

Ffir{

I

z

"J
-^
-
5

sl$r: dfs-
Y\:r x<4H I tq(3{ 9vtqt6nT{l-ililqlRTfir{

qtsTeqt-fiq geiqqKFT qg
q$Tsql-{g BniqqrEg y

t6 I

I6 I

l6
\41 rlrqtqYtqt<{ tgdlqlltqsTl

ffi--; l6 I
rYr\lwq\&4lvll cnqcl<

t. silRfrsqfrqtvrq,/

2. qTrFT€qCvS.id/ Tll€*qRqqf ffi: _5

:. fuqptfrggrqT: qq{ }e;rFt.-T er$T: _5

4. 31fte1fr; 750/o = 01 st-S:, 76%_g0% = 02 oTd,
8l%-85% = 03 B{gl:, g6%-90%o = 04 ffi[:, 91% d:
e+ltrq - 05 er$iT:

t6 I
6
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vqdr'an:

1. q6TTilq{, gfufr 
, {Irrfrrf,fr..Tgse, E:frqml

2. qut T6rsrTq{, qroflfrerwq;rqmqr

3. qW q6Tqq{ Crddalmenq) sfrqTqfiri-qr

qqsltFql.-

t. qflqqq rtqets*-TrF, €Rrrrulll
2. RW r6rqT6q(, qrvfrRmqqman{r

3. quf Er6TqTq{ (l-ffidahefude yfrqrsqTqmqr

Efrqqw{ {I&tFet:- qdtqfq{p TlqtrlTtzfl-{t:

qqHTuqlt|g qwlqR:

qR-qru{-irFr lgfrqqR;
qRrqrur{s qfruvrq:
gqplu{r{rg qgeiqq:

wtgt:
100

*fse
06

VorE qgr: *ke
t6

2

J

;T
;

t6 I

l6 I

l6 I
rqr{rv{'f{IutT

t. qmfffiqT,rq./ ffi: -5

ffi: -5

ffi: -5

76%-80%o = 02 3rS+,

= 04 stgT:, 9l% iT:

2. rTrE{aEqcw.ld/ qTF{qM
3. RlqiurcirdqTqqT: qq{ ycr.+Fte.il

4.

8l%-8:t% = 03 3[gT:, 860/o-90%

ofuel = 05 ef,g'r:

t6 I
6
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Tg'?fqr{ qErFq:- oqroqqwqdleargr ffi:
100

*F€
06

Ffid vt-{qfrqqrt ETffT: *fsc
I , iKtrqtFI t6 I
2 stEtuTr€IrqttTRdT: T{qi, rcdq*l{q 16 I
a
J tq*f.r1trf\ffiqri{il, it-*rrFfi'rtrfrT: enqrqt: uaqq-q l6 I

4 q-qR-q r6 I

5 rtffir, qrgrffiqr*nrfq
T6 I

6 t. eT;AMe1giV el$T: -5
eT$I: -S

sTgT: -5

76Yo-80V0 = 02 -TS

= 04 3f,gT:, 9l% d

,. qT RaRqGrrqtd/ yffiqRrqqi

:. nrqqqragr+-n: q+i rrq;ted
4. 31;fte1fr; 750/o = 01 3[S:,

81%-85% = 03 ffi:, 86yo-900/o

3TR|s:[ = 05 asT:

20 I

sq{rqr.-
l. qFF{uTqrrc{ .h'T EfrdRT, ttils. - gftrffiqq., {FleTfeT s-Tr g€l
z. *ffie q-r qFrgrq - d€q- - qdqq ssTra[.T, +qqTrqrq|-{{l
3. qg{qfll-€{ sT qrildrs - fufr - qrqfrfiqfuErdTd, ltqql.rs.TqH{l

Flqqrd{
(6)

gl-6ll[-;Qtr: - qrqrf€H{ sffi:
100

*f€u
06

Fs,r{ qr{qfrqqr: srsr: dfsc
I t6 I

2 qffiqq'qqftspil l6
aJ uqfffwnt l6
A- 3{eifrsH{ t6
5 qPFiffi qTrqrtrn xpn+rq-offim : t6
6 1. 3r<Rs-qfrqTurv ffi: *5

eTgT: -5

eTgI: -5

76%-80% = 02 .rsi
= 04 ffiT:, 9l% n

z. vnFieqqqs.tdl qr€{qnEqi

3. fuqrr*fql+qr: vzFi l"rqlw
4. 3qR€{fr: 750/o = 0l st$:,
81%-85% : 03 ffiT:, 86Vo-90%

sTR|Eq = 05 ffi:
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s<{T;erl:-

1. qNTtqg|;I qq q|tqr{n€{ - ei.qfrertqB*qbiTqd, ffigpoq FFl{Fr, qnrur$r
2. Sqn FI .]TqRnFfq eIq{R - ci.rfrf,NT$rdnq, ffig16q FFlqrT, qnrurfir

gq{wplt.-

1. wqfafl-q gq qrqRrK'{ - ei.effird{en-qrd, ffiq-6q FF.rqH, qrqrufsr
2. €tqf, sT trTqFn-F*q o{bq{H - <i.rM-*'t-qrg, ffisp-oq trsTfl;T, qnrq*r

qgetw{

Tqqrrr(
(u)

q161q;etr:-ffi

o---$

ffi:
100

*ka
06

Fd,r$

I

2

t
f

-̂
5

srgr: *Fse
y.ltLutqdt.lt

orr r\'l\ ,,^,,. ,, f)
l6 I

rt\t,1tY+ilqlYl{ql(:

o='Ftl-
l6 I

u-r tr tqrll'1+l-\
.,^{tr- I6 I
qelt9{11+\

g1ppl{il{rqilqRq €Tntrft{Rs. :

l.s1@
2. {TrFflSqEss.td/ flF{qft{qi
i. TflEtrfgk-gfqq: qq{ yg*FtGI

4. sqRqfr: 75% = 0l sTS:,

8l%-850/o = 03 ffi:, 86%-90%

sTfil-Eq - 05 srST:

eIgT: -5

ffi; -5
srST: -5

76%-800/o = 02 3I$+,

= 04 ffi:, 9l% iT:

r6 I

l6 I
6
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9sTqH{ qTGI[el.- Tdrqrq{, Frqqr{1q !fr€gpiqrd qffi:
100

*f€
06

Fd,r$ qr{qtqqqr: €f,sT: tfsc
I qe.lrqfsqMg EdlqqKg yrmFq-Sq l6 I
2 TqtqTuqr{g gRiqTT{g r6 I
n
f rqq1urgs vgeJqT{rq qTkd: @ t6 I

4 I."rrTluqftlg qEetq|-qg €T1RI1qTT: {flRrz1 qqqqfu qpq 16 I

5 frRrqtprun +{*qffrqir4qqq l6 I
6 1. 3{RR$qfrq{urq./

z. qreqrq6s-sid/ T'n€flk{rf 3f$r: -5
:. fum{daqrqqr: qq{ gtrqie<r eilgT: -5
4. sqFteTfr: 75Vo = 0l sTS:, 76%-g0% = 02 -Td
81%-85% = 03 ffi:, 860/o-90v0 = 04 ffit:, gI% n
sTRrdFq. - 05 3G;r:
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v<srlrelr._

I. qflgTTETT,

2. qqrt- qflstTqq, quftherermwrflt

3. R-rT4 q6rqTq\ (trftiddfrefu6q) yfrqrqnrv6{r
qBiEr;s[.- rllilrllEtt, rTqlqrq{q

qqqk$qr,
qgruqrrrs !-frqqrt{q eqq6*-
qvlu.rr+s Efrqqqw
qgtuTrqs vgefnw qr{qfffrqrR{d
qts.lu{r?rer qgsfqqg !frFrg4ffi
frRrunfdrun'

1.qrcfrq;qfrqrrv@
2. {rRqRqgsffi/ vtr€TqfuHi ef,$-r: _5

3. frTrgqfr6qrqq: qqi ytr*rlcf ffi: _5

4. sqR*ffr: 75% = 01 ffi:, 76%o-80% = 0z *TS,
8l%-ti5% = 03 ffi:, 860/o-90%o = 04 3;[gT:, 9lo/o d:
e{-rrq = 05 ffi:

1. qilETq{, gfufr@, {Ft1flTrfr-qq€, ERqpnI
2. vrpf rr6TrtTq{, qrufrEerwerqm{r

:. {W qgrqTql (y-frffinF*rfurq) ffiqeqsql
aftmdq. qtdrFe{.- T6rqTq{, eIqqlr4rq:

qr€Fqqqr:

ryilgr:
100

*lw
06

Frr$ AHT: *tse
I 9SITNK l6 I
2 tgfrqqrq: t6 I
a
J qfr+w.i:

16 I
4 qSefqrci:

r6 I
5 t6
6 1. 31-qfuffiffiq e-{dfr+e-fi..ft er$T: -s

2. qr€lvq-frF$id/ ensqM ffi: -5
3. fr1qTur*frgrqrqr: Ter;t rr.sF|*-t ei-gT: -5
4. gqftelfr: 75% = 0l W':, 76%-g00/o = 02 -Td
SIYo-8!P/o = 03 3{gI:, 860/o-90vo = 04 si-gT:, gl% d
eftr*q, - 05 er$ir:
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v<dsen:-
l. rrdlsrTql, gftTft trq€rffiK-{re, eRqrqrr
2. Rquf qarrrTqt, qr"flfrerwqrvr+qr

l. qwf q-6rqrq1 Cl-d+dnffirO yfrq.rfirqrqr

qqqfq{qr:

Rrm*e-d: faars.:ffi
nAfrrr{ ETnem:, II€qYq
dfrq-sq€), qFaorqr, qRqq{q
qrFTfr ilsffil-qffi{qTqr qnqq;ffi

l. s{TrrR-*-qfrqroTq rqnffi{ ergr: _s

2. Yrrciqr{G€qtd/ qrerqR-{qi 3{-gT: _5

3. ftqplgi"dqfqrqf: TzFt gq-*FleE[ ffi: _5

4. SdRqfr: 75% = 0t ffi:, 760/o-g00/o = 02 stg+,

8l%-85% = 03 ffi:, 86%-90% = 04 cf,gT:, 9l% d:
er|rrq - o5 eilsl:

l. qlcFTqflr€{ q'r {fr6rq, d.q-fi - gRtftdr,frENlfi, {|-qcntf H-Tr E€l
z. *rE*wt-e s.r -affrgrq - dqfi - qf,-qq ssTq[uT, q]qqre*Tqirqr
3. q${utflfq sI {fr6€ - tqfi - a{rqffieqft1qT6:6, d}uerx*rvr+qr
rqqrd{

(s)
arFF{ur€T ryffi:

100

*fsc
06

Frr{ qr{qFqq, efsT: *lsc
I qrnffi:

r6 I

2 Yr-srE[, q-rsqrFil:
I6 I

J tYrlc: t6 I
4 t{|;t: il(rlq-erq I6 I
5 rTrqElqekqr t6 I
6 t. eil;nffiqTurq/

2. qlRqqrT€sstd/ ITr€iqM qgr: -5
:. fqrewr*trsrqrqT: wFt rr*ncl edST: -5
4. sqf{rrfr: 75% = 01 ffi:, 76%-80% = 02 q-d
81%-8i5% = 03 3{-$T:, 86%-90% = 04 3dgT:, 9l% d
eTRrfr:{ = 05 srst:
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{r<dupr:-

. " 1. qwcfrl f rdrftrfq-atl q-d-*.ru-s{, q.Tgql

I

2. q{qf,gTq{r - 1n5}vrq-€ffi{dr) reffiar, +€qT eTqrerrcfr eq.tql-ql
3. q{tTqqq{r - trryqfuar, ffi:r

Tqqrrd{
(q)

13ffi:
100

*fsc
06

{6,r{ qr{qfrqqr: qETI: *fsc
I vrFm: l6
2 Trsrq, q'rqvrk:

1,6
a *qte: t6
4 u+fr. 6qtqvq t6 1

5
'\

YITSilE!rcFqI t6 I
6 eTuFl y{dfrTdfi{{ erg:r: -5

2. Trrs€qeqqM/ TrrtaqM eflS-r: -5
:. ffleTur*fqrqrqr: TiFr rr+r+q sf,$I: -5
4. gqftqfr: 75yo = 0l etg:, 76%-g0% = 02 -Td
81%-85% = 03 3[gI:, 86Vo-90V0 = 04 ffiT:, 9lo/o d
oTRr*..{ = o5 ffiT:
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vq{Feil:-
1. ateq{qR t qfeRtr+arQ qil*.Tus{, e.rgn ,

r

2. Itsmgqq{r - (TFivrq-{&rFddr) naqqlRffirsrcdr, qterqr sawqrcfi rilvf{ql
3. q{ftTgTqql - ffiffi,@:l

lry

28


